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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oA 2R T T

(a) What is cardinal utility?
RO S 52

(p) What is the marginal rate of substitution
between two perfectly substitute goods?

751 *)f % AR cvae wifve ofvvss = &
237?
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(@)

(e)

(9)

22A/39

(2)

Define incbme effect.
o[ {999 Age W |

What is meant by a person be ‘Tisk
averse’?

e qEmg 5 Siferge” WMo R o I 2

Why is the average fixed cost curve .
rectangular hyperbola?

5% 3 IR (FICE SHe “4Ige 7 2 2

When is the long-run average cost curve
L-shaped?

TR 1S T (TS (O L-Sfeq 23 9

What is production function?
Teopr I %2

Define expansion path.

P AR FIgE fra |

State the concept of shutdown point of a
firm

qﬁﬁﬁ‘sﬂﬂa%awwﬁ*@ T S <41 |

Define opportunity cost,
STCASl AR <] o |

( Continued )

2. Write short answers

(3

of the following
questions :

O SRS 5 e i

(a) What is meant by slope of a budget line?
CED (31 G B WG 6 el A 2

(b) Distinguish between gross demand and
net demand.

T wIf2 A um BRI WS A e 3990

(c) What are short-run and long-run costs of
production?

ZFFIAN SF TN T 79 T 7 2

(d) Establish the relationship between total
utility and marginal utility:.
2 ToAIrel W e Secier Mew ek
I 91 |

(¢) State the concept of optimum firm.

P ASH AR S 39 |

3. Answer any four of the following questions :
5x4=20

O 2GRS RGP vt Seg fay -

(a) What is inferior good? How is it different

from normal goods? Show it with the help
of indifference curves.

o2 el 50 Fefe AR 2 @ewE
R ? PR @R SRAS e |

22A/39
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2x5=10




(b)

(c)

(@)

22A/39

(%)

Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

mﬁ%ﬁﬂﬁwqmmﬁﬁmwm
WW%WW,WW|

Suppose the purchase of g lottery ticket
is under consideration of an individual,
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of At
Further suppose that the probability of
his winning is 0:6. Find expecteq money
value of lottery ticket.

1R o e <GB AR Beb Ry wew
e =) M e were wr oy
s,oooﬁmwmwﬁm,m
1051 PR 351 R | SR 491 27 @ wyers
FR AT ' 0-6. 75 Bt aronfrs
G137 Sfeie |

Define substitute and co
factors. Draw isoquants
substitutes and perfect com
production. Give examples.

mplementary
of perfect
plements in

( Continued )

4. Answer the following questions :

22A/39

(5)

(€) “If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

“ eI WS Ifi T A s
W, ofem v few BT T W @9R
e et 27 = 107 e < 0

() Give the various concepts of production
costs in brief.

ST T RS qeemz vyt e |

O] 2T Te far

(@) “Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

IR S wedia on RRGH wRe
Saf 31w e 177 e 4 |

Or / §241

Explain how indifference curve can be
derived using revealed preference theory.
AT Sepifderg OGT RBIS (AT [T @9
| oﬂﬁs T 547 |

(b) How are average cost curve and marginal
cost curve derived from total cost curve?

10x4=40

10

5+5=10

T T /1 @eRE TS T @ A
T SR 39 #4139
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(6)

Or / g1

What' is. mf:ant by optimum factor
combination in productign? Explain with
the help of isoquant and isocost lines.

2+8=10

W‘@vﬂmcﬁ%ﬁmﬁsﬁm? I
CIAT O SRR R SRS 121 %47 |

{c) Explain the impact of change in rate of

interest on the cop Siners Use
diagrams. 3 10
TS S TR T4 ARy ofc -l
%91 | foa Fr@2R 3 G
Or / ==y
Fill in the blanks in the following table :
3+3+3+1=10
Goq SIfeipIeeq q@w e
Number of Total 7
variable inputs output g‘:ggf:ftl iue;iif
ﬁm O
e P | oo Beomrer | arw s
T y
g i3 e
7 S e 20
20 ik
5 130 e =
6 x | =
7 B2
iy 191
x_ — e
22A/39

( Continued )

(d)

22A—4000/39

(7))

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

@oge TrEY T OIERTe FROHA ST
eifSwfere =gea 2 I =W, (90 ! RTETA
IR (A6 *[{1 FRPHE AlfeT Torm =5
=

Critically discuss the law of variable
proportion.
ARG Se  [EG e
SCeo] 41 |

Or / =41

What are isoquants? Show the
increasing, constant and decreasing
return to scale through isoquants.

10

1+3+3+3=10

A @1 Ry e (RN e
T, A 1 FHRP 8o ARk
afenr crgea |
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
w® TEIAEe Fee I Tey f

(a) In a capitalist economy, the level of
employment depends on

g2 ffERi s¥ifee fam Tar ¥ F$3 3@
(i) level of aggregate demand
AP BIfRAE TG 8o

(i) level of aggregate supply
ST EISIE W SRS

22A/40 ( Turn Over )



(b)

(c)

22A/40

(2)

{iii) level of effective demand

&7 BIfEAR Tam eore

(iv) None of the above
ST GbT8 T2y
( Choose the correct option )

(waﬁwﬁﬁ%%@)

Aggregate demand can be expressed as

R SIfZAT 2ert SR o
() D=D +D,

(i) D; >D,

(i) Dy <D,

(i) D=D, - D,
where (8) p -
D) =Consumer demang (C‘:ﬂ’@ﬁﬂﬁ{ﬂ) and

(R vifzmr)
( Choose the correct option )
(o= R3hr IR Shieg )

When money wage rate is unchanged,
the slope of aggregate supply function is

S a1 e 2 FHRTETN, cofem swfare
CIOIT T4 @7 3%
(i) linear
AR

( Continued )

(3)

(i) non-linear
-9
(iii) curved
q&p
(iv) Any shape
Repre s
( Choose the correct option )

(o= Romch MR Sfenear )

(d) According to Phillips, the relationship

22A/40

between unemployment and the rate of
change of wage rate is

WWWWWWWW
T SFo—CHT 275

() inverse

BEEIS
(i) linear
R
(i) non-linear
-(IRe
(iv) both inverse and non-linear
R3S o 51-t3lRe et
( Choose the correct option )
(o= Resichr a1f Sfenear )
( Turn Over )




(4) (5)

(e} Phillips curve determines 2. Answer the following : 2x5=10

e @i Py 5= woTe AR Teq i ¢
(i) employment rate (a) Differentiate between spot and forward
CIIBE] exchange rate.
i =0 S HaEs KT 299 TEo AL [
(i) unemployment rate 41 |

S )

(iii) inflation rate

Write two constituents of international
financial market.

TarEIfes =" wrgsfee {8t T o e W
(iv) All of the above (c) ;\i\dfhatczl lfr; tjne I—Sd ;omponents of
undell-rieming mode
8o[{q HIBIRCH20!
Jeea-qriiy wifEe sieen-RivcEeE TAmEEE
( Choose the correct option ) &9

(‘5‘5%031?11@%%@) (d) Give two merits of Phillips curve as a
() What is modified Phillips curve? tool of economic theory.
e RefeieR @9 &2 E;Ww wgq A2 ot e (9[ 1 8
o . |
(9) What is assignment problem according :
to Mundell? (e) ?ieﬁne impossible trinity of Mundell-
eming model.
T T Mo SRR o f 9
: i ik T -GRRR S pisa @ fe sieet |
() What is Dornbusch’s overshooting
model? 3. Answer any four of the following : 5x4=20
S SRR WD f 2 word Reiea BB Bes fie -
()  Define international financial market. (a) What are the factors which cause shifts
ST 81 e vigee fory | in the short-run Phillips curve?
() What is open economy? AR e sReT e PR QN
T& SIS & 9 ARG TR @1ET 27 2
22A/40 22A/40 ( Turn Over )
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(b)

(c)

(d)

(e)

22A/40

(6)

Explain : the Concepts , of rational
€xpectation in theory and Practice

CiNE W @i oras
. 9© e swp
AIREIICOT 137 3047 | g

What is a(.:laptive €Xpectation? Mention
three limitationg of adapti
€xpectation, i

SIS sromy £ o =
SeEy 39 | " R S

8¢ rate determ; i
a free marketp Explain brieﬂyrmmed in

& T8RS i 5
AT ] | &mﬁﬁW@’w

What are the relative importance of

aggregate  demgp
supply? 4 and  aggregate
: AL ST S

TR g fr

How can the
be deriveq>

dggregate Supply function

( Continued )

4. Answer any four of the following :

(7)

o9 RCIC B Teq fira

(a)

(b)

(c)

(@)

22A/40

Explain the purchasing power parity
theory. Discuss its limitations.

& WAON WOl WGl AN P61 3|

SAHOPHR SICo 411

Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate

with perfect capital mobility.

e befelel Jeeed (TS %9 W eifRasauie
R 2o eA-@fica difie we ae-
Tl N Tfecer I 41 |

How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

RfrR @i @eite P o e
&I T=F I 909 2 TR Mosre Reamenz
ST 3547 |

What do you mean by effective demand?
What are its determinants? Explain
briefly.

Wﬁﬂﬂ&mﬁm%qw?%ﬁﬁ%mﬁs
2 o5t < <9 0
( Turn Over )

10x4=40




(8)

(e) Discuss how underemployment
equilibrium is determined with the help

of aggregate demand and aggregate
supply.

e R W TR @R SR
Spffcalel SR T FdiRe = =, qef
1 |

() Explain the Dornbusch’s overshooting
theory.

TR SRR ! M 4 |

(g) Write a note on monetary approach to
balance of payments (BOP).

T STl (BOP)Y ywisie Eei e me
BT ¢BrRT foram |

(h) Explain the asset market approach to
determine exchange rate.

ﬁﬁwmﬁaﬁaﬂﬁﬁaﬂwﬁwq@@@
I T |

* k%
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Full Marks : 80
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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTs TR ot spii Seq ford

(aq) Which measure of central tendency is
known as positional average?

@I LRION (P (RN TAIS o e
Gl A 7

(b) What is the SD of the following values?
T T T T T
o WA W e &2

T T s
22A/41 ( Turn Over )



(2) oF

(C} What is me
ant by ‘Kurtosi
s’?
T Al Iferca =1 2. Answer the following questions : 2x5=10
: o AATeE Ted o -

(d) What does r
=0 signify?
Y. (a) For any two unequal positive numbers

r=0a R Ie
%) Sl o and b, prove that AM >GM.
e) Define g
a random varigble, R o1 ST 4TI RN @ W B A
i Borea siceat fia | o T4l @ AM > GM.
() In a Poisson distributio (b) What i.S the probability .that a non-leap
variance = 8. N mean = 7, year will contain 53 Fridays?
(Write T 1 SE-sfieEs A 536 WEIN TR
451 *1xb” 397w a75 < 7 Tue or False) Fgifrel R 2
5= W ==
, (_\“;T & (c) If the covariance between X and y
(9) E(Q= NG for=) variables is 12 and variances are 16 and
i 9 respectively, find the correlation

?, where c is a constant

E(c) = ? 3% ¢ tagg oy | coefficient between x and Y -

ot x % y o1 T TR 12 W W€ P

(h) If P(Aor B
)=P
what will be tf(i) +PB)-PANB), thep A 16 ST O T, (TR T DAL e
Abndes nature of the eyents ST TSl |
M PATRT g (@ I X; is a random variable with
ST A e B) =PA)+ PB) - PAn B) respective  frequencies fi,  where
(P 29 w5y J i=1,2 3, -+, n, show that B(X) = X.
(1} Wh ! o ') gt =ty ] ]
at is joint probability dice. afii X, <1 Aoe® oo T T IR fi =,
Cmr\‘iﬁﬁ ty dlstrlbutiollp = & 2
IRl Reqe 5 o 9 1=1,2 S GaiRe s @
; -
W When does a sam li 2
#1f - o . Ping errgr arise? (e) Mentiqn two methods of random
20A/41 3 73 7 sampling.
qfoeee AP 7o (S SCEd 41 |

( Continued ) 22A /41 ( Turn Over)
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3. Answer any four of the following questions :

5x4=20
weTo il 2P R wifiem Sog frg -

(@), Find the first four moments about the
mean from the following distribution : S

O ReIm M omr sww wRGT g
W@: ¥

Heights (inch) : 60-62 63-65 66-68 69-71 72-74

RIGES)!

Frequency : 5 18 4
: 2 2
RISECIE ] i i

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and —1. 5

CRST @ 3o Piomse TR e 41w
-1 9 9@ 9 |

(c) Define conditional probability,  If
P(A)=0-4, P(B)=0-7 and P (at least

one of A or B) =0-8, find p (only one of
A and B). 2+3=5

DO TSRO ket o | P(A) =0-4,
P(B)=0.7 ©i¢ P (394 A Wiz Be <o1)

=0-8 =, (R’ P(A W® By fige
«51)7 Sigifel Tféned |

22A/41

{ Continued )

(5)

(d) A random variable X has the following
probability distribution :
<51 e EE X @ TE RISl 3B

S IR A -
X : 4 5 6 8 9 11
P - 01 03 04 02 05 03
Find mean and variance. S

ST % £PTae Sfered |

(e) Explain the principal steps of a sample
survey. 3)

eifon “rafeq fifen Baa™ S 4 |

Answer any four of the following questions :
10x4=40
wo FeTe vifht e Ted fory

fa) What is dispersion? What are its various
measures? Find the variance from the
following table :

oz T 192 R [fen @EE &7 oo

SIfEImE 41 &P7ee Sfere

Age (years) : 20-30 3040 40-50 50-60 60-70

T3P (A7)

No. of persons : 170 110 80 45 40

LI ES Bt
Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10
fgad @meor @e e gy I @RI
77

22A/41 ( Turn Over )




(8)

(i) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
1, Lt and % respectively. What is the
probability that the problem will be
solved?

(iii) Under what conditions Binomial
distribution tends to normal

distribution? 3+4+3=10
(i) “Efe =9 T SAE eIl ¥y T
o1efes o |

(ii) % I REFE 961 071 A, B 9E CF
ST FRAE W SE e $9[
ool I @EEA L, L W L o=y

T
CSCE’CA SIS T GRR STeifiel
a2

(i) (P T DT AARO farm 3% el
A%t SIS 2 ?

() Explain the different types of sampling
with their relative merits and demerits. 10

aiforaa RS dFFETE Weeifrs aTeT™ tos
HICEADA T4l |

* Kk *
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